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Solve y” + 2 y’ + y = xe~*
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Find J-*t

Let A and B be 3x3 matrices with det (A)=4 and det (B)=5.

Find the value§ of (a) det (2AB)
(b) det(A-*B)
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Given ) = 5 with .initial conditions
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u(x,0) = f(x), = g(x)
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what's the solution of u(x,t) 7

(a) Find the Fourier series of
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Differential equation Yy = Ay +:h ' -
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(a) Find the eigenvalues of ‘A. v -
(b) Find the eigenvectors X of:A. -

(c) Find D = X-*AX,
(d) Let 'y = X z, and substituting into the differential

equation, then =z = 7
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(e) If y(0) =[ 3] , then y(t) = 7

© (15%)

(15%)

(3%)
2%)

(15%)

(8%)

(7%)

- (10%)

- (5%)

(56%)
(6%)

(6%)

(5%)




